£l

HOLE PLUG

HTUFLEE

HOLE PLUG

WR22 £ FLZE

SCREW HOLE PLUG

R INZERO S

PLASTIC HARDWARE& ELECTRONIC COMPONENTS

2023 EDITON




FLZ HINALZE MUk DVIPGEES 12227 F1 28 1R22F 3L 1RO




FLZ HINALZE MUk DVIPGEES 12227 F1 28 1R22F 3L 1RO

1Rz 1| £

17

02



F#Z HOLE PLUG

¢+ MATERIAL : NYLON 6 (UL) Big: fLE, TBEZRESHEO
o FLAME CLASS : 94V-0/94V-2 EE REAS.
+ COLOR : NATURAL/BLACK
¢ UNIT: mm
7
\/
— 36.25 | o

PART NO PACKAGE
CHASSIS @2.8 SST-1 1000

THICKNESS 1.2

+ MATERIAL : SILICON RUBBER Big: L&, TBSeEREN
¢ COLOR : BLACK B RERSE.
¢ UNIT: mm

REILRT > g4+
Mounting holes are for reference only.

— 4.2~
— @7.2— PART NO PACKAGE
MOUNTING HOLE @7.0 SST-2 1000

RELR+ 0 4%
Mounting holes are for reference only.

07.6
211
MOUNTING HOLE @7.0~@7.3 PART NO PACKAGE
THICKNESS 1.0~1.5 SST.3 1000

17

03



flLZ=E HOLE PLUG

+ MATERIAL : EPDM Big: fLE, TBEZRESHEO
+ COLOR : BLACK BE, TFEM3IR227 (.,
¢ UNIT: mm

o)
N

@JT:F
1
s
PART NO PACKAGE
BLA M3 F L% A
FOR M3 TAPPED SST-4 1000
+ MATERIAL : SILICON RUBBER  HHi%: FLZE, mISZRat=tsO
+ COLOR : BLACK EBE, ROaZ.
¢ UNIT: mm
@13
%ﬁ\ @8.5
L (N |
(\ \,/ /7
=
N = EEILR T 0 RS E
L l Mounting holes are for reference only.
L g3
?8.32 PART NO PACKAGE
MOUNTING HOLE 8.3 SST-5 1000

EEILR » E5H
Mounting holes are for reference only.

L @25

g6 ~— PART NO PACKAGE

MOUNTING HOLE @5.5~@5.8 SST-6 1000

17

04



F#Z HOLE PLUG

+ MATERIAL : TPE
¢ COLOR : BLACK
¢ UNIT: mm

N
1 <
P~

|

MOUNTING HOLE @22.0

Fig: L&, TRBESRIOTSHEN
B, FhE%.

REILRT > 4%
Mounting holes are for reference only.

PART NO

PACKAGE

SST-7 1000

*

MATERIAL : NYLON 6 (UL)
FLAME CLASS : 94V-0/94V-2
COLOR : NATURAL/BLACK
UNIT: mm

1
N

*

*

*

ig: L&, BTKELZEL,

= 1

<14 —]

~—16.5

- @12.7 =

PART NO
SST-31

PACKAGE

| 1000

PART NO
SST-19

PART NO

PACKAGE PACKAGE

| 1000

+ MATERIAL : SILICON RUBBER
+ COLOR : BLACK
* UNIT: mm

Fi&: FLE, TSRS HZO

B, REEZ.

KBRS g4+
Mounting holes are for reference only.

PART NO
SST-11 1000 17

PACKAGE

05



flLZ=E HOLE PLUG

¢ MATERIAL : NYLON 6 (UL) i FLE, TBSRIFSHED
o FLAME CLASS : 94V-0/94V-2 B, BERAS

e@o
¢ COLOR : NATURAL/BLACK
¢ UNIT: mm

PART N PACKAGE
MOUNTING HOLE @4.75~@5.1 o
THICKNESS 3.3~3.5 SST-12 1000

1

ﬁ PART NO A D G  PACKAGE
1.3

N&gﬁ% SST-13 16.0 12.0 | 1000

SST-15 104 | 11 6.0 1000

MOUNTING HOLE: @G

THICKNESS 0.8~3.8 ssT-16 | 104 | 1.1 | 6.4 | 1000
023.8
a
N’
— @21.9—
N T
= PART NO PACKAGE
—_— SST-14 1000

17

06



F#Z HOLE PLUG

+ MATERIAL : PE
¢ COLOR : BLACK
¢ UNIT: mm

KEILRT g5 %

e
Ny

,//*iu*;
No
[’
lgaqt
MOUNTING HOLE @4.0
PART NO PACKAGE
SST-17 1000

Mounting holes are for reference only.

A& fLE, BATKELZEL,

PART NO PACKAGE

SST-18 1000

*

MATERIAL : TPE/TPE(UL)
FLAME CLASS : 94HB
COLOR : BLACK

UNIT: mm

| \\7/ // /‘

*

*

*

\

Fig: FLE, tTRBSRRBIRENN
FHEMES, RS2,

~/

\ \\\ // )
012

@12 /‘ I T ‘ J f
A L ——
[V o /_r ‘
— Lt ~ @6 -
PART NO PACKAGE PART NO PACKAGE
SST-20 500 SST-22 500
@49
P@Ar_fq
'\ ﬁiu
— @42 — 32
L\ o H‘t I PART NO PACKAGE
L @31 SST-21 500

07



F#.Z HOLE PLUG

Bi&: FLE, TEZRNBREIINEHENES, KRa2.
+ MATERIAL : TPE/TPE(UL) 24
' ij.ST
* FLAME CLASS : 94HB
+ COLOR : BLACK N
t |
¢ UNIT: mm \\///
20
;._i S
| R R I
PART NO PACKAGE
SST-23 500

*

MATERIAL : RUBBER
FLAME CLASS : 94HB
COLOR : BLACK
UNIT: mm

*

*

*

MOUNTING HOLE @19.0 MOUNTING HOLE @19.0
PART NO PACKAGE PART NO PACKAGE
SST-24 500 SST-25 500
+ MATERIAL : EPDM Big: FLE, MohEsgH%OziR
+ COLOR : BLACK BB EE,
¢ UNIT: mm 618
ﬁ# f

[Te)
e #EIR T RS
J%[Lt Mounting holes are for reference only.
211

17 - 16

MOUNTING HOLE @11.5
08 THICKNESS 1.2~1.5 SST-26 1000

Il

PART NO PACKAGE




F#Z HOLE PLUG

+ MATERIAL : PC+ABS(UL) Mg 7LE, BIRIRPSHL,
+ O-RING MATERIAL : SILICON RUBBER

+ FLAME CLASS : 94V-0
¢ COLOR : BLACK
¢ UNIT: mm

@13.3

PART NO PACKAGE
SST-27 500
+ MATERIAL : RUBBER Fi&: FLE, BRI HEO
+ COLOR : BLACK EE, ERE%.
¢ UNIT: mm
B ERILR T o fE S
Mounting holes are for reference only.
@37.2
@25.5

\@H

MOUNTING HOLE @25.4 MOUNTING HOLE @28.5 {#H_'

-
PART NO PACKAGE PART NO PACKAGE Mo

\

L(?

SST-28 500 SST-29 500

+ MATERIAL : CR/SLILICON RUBBER  FHi&: FL.ZE, mIESZRHWIFTHE
+ COLOR : BLACK OiEE, E6E5.
¢ UNIT: mm

REBILRS » g4 %
Mounting holes are for reference only.

17

PART NO PACKAGE
MOUNTING HOLE @40.0
THICKNESS 2.0 SST-30 500 09




flLZ=E HOLE PLUG

17

10



$NstFL%E HOLE PLUG 3I0stZEsL

+ MATERIAL : TPE Fig: NRXFLE, E2RAIWFTH
+ COLOR : BLACK/NATURAL HOEE, EREZ2.
¢ UNIT: mm

- @31—
FQA ‘ E Tl
% L - g

o : :
- 7T
MOUNTING HOLE: @G MOUNTING HOLE ©@22.0
THICKNESS 0.8~1.0 THICKNESS 0.8~2.0
PART NO A = G PACKAGE PART NO PACKAGE
KMX-01 240 | 4.0 | 22.0 1000 KMX-81 500

KMX-02 16.0 | 3.5 | 13.0 1000

I o

r 038.2 j N
E @16 g S
L

- f MOUNTING HOLE @31.5
MOUNTING HOLE @13.0 THICKNESS 1.6
FHIGKNESS: T - Material: TPE (UL)

+ Flame Class: 94HB

PART NO A T PACKAGE
KMX-03 51 [1.0~1.2 1000 PART NO PACKAGE

KMX-59 3.5 1.0 1000 KMX-98 500
* MATERIAL : NYLON 66 (UL) Big: MRFLE, THESRIHS
¢ FLAME CLASS : 94V-0/94V-2 HENESE, ERE5.
¢+ COLOR : NATURAL/BLACK
¢ UNIT: mm
@A
% \H PART NO PACKAGE
\\H\ f” KMX-27 12.0 |1 10.5 0.8~3.5 1000

KMX-28 16.2 | 10.6 | 12.7 | 11.5 | 0.8~3.0 500
KMX-29 18.6 | 10.6 | 15.9 | 14.0 | 0.8~3.5 500
KMX-30 227 (106 | 19.0 | 16.5 | 0.8~3.0 500

KMX-31 256|106 | 22.1 | 20.5 | 0.8~3.3 500

KMX-83 145 | 106 | 11.0 | 9.9 3.3 1000 17

MOUNTING HOLE KMX-84 | 17.8 [ 106 | 143 | 134 | 33 500 =
THICKNESS: T

11




NXFLE HOLE PLUG =L

17

12

*

MATERIAL : NYLON 66 (UL)
FLAME CLASS : 94V-0/94V-2
COLOR : NATURAL/BLACK
¢ UNIT: mm

~ =3

SN

AN
\E\”ﬁ/

*

*

Fig: HzUfLE, TSRS EH

HOES, RS2,

VI

/F» =
PR
v SN
(/ M\
i
l
S
el

A oA
fnial =15
MOUNTING HOLE: @G L D
THICKNESS: T
KMX-08

PART NO =] G T PACKAGE PART NO ] (€] T PACKAGE
KMX-05 6.35 | 5.5 4.8 1.6 2000 KMX-21 32.0 | 13.5 ] 28.0 3.3 200
KMX-06 7.6 56 6.4 1.6 2000 KMX-22 3421 11.3 | 30.0 3.3 200
KMX-07 13.0 | 55 9.5 14 1000 KMX-23 16.3 1 10.1 | 14.0 3.3 500
KMX-08 15.2 ] 6.2 | 135 2.2 500 KMX-24 19.3 1 10.1 | 17.0 3.3 500
KMX-09 200 | 7.7 | 159 2.0 1000 KMX-25 24.0 | 10.6 | 20.0 3.3 500
KMX-10 106 1] 7.0 7.0 0.8~1.8 2000 KMX-26 36.0 | 12.0 | 32.0 3.3 200
KMX-11 95 7.6 8.0 1.6 1000 KMX-49 119 | 64 | 10.3 1.6 500
KMX-12 1151101 9.0 3.3 1000 KMX-50 8.7 6.4 7.0 1.8 1000
KMX-13 11.9 |1 101 9.5 3.3 1000 KMX-51 56.4 | 17.0 | 50.8 6.4 200
KMX-14 14.0 | 101 | 11.0 3.3 500 KMX-52 575119.0 | 53.0 | 0.8~6.5 100
KMX-15 14.3 1 10.1 | 12.0 3.3 500 KMX-53 17.3 1 10.1 | 15.0 3.3 500
KMX-16 146 | 101 | 12.7 3.3 500 KMX-54 38.1111.5| 35.0 3.2 200
KMX-17 18.7 1 10.6 | 16.0 3.3 500 KMX-55 424 1 11.8 | 38.1 3.2 200
KMX-18 23.2 110.3 1 19.0 3.3 500 KMX-56 48.4 |1 11.8 | 44.5 3.2 200
KMX-19 254 | 11.0 | 22.2 3.3 200 KMX-57 7121191 | 635 | 0.8~6.4 200
KMX-20 284 11111 254 3.3 200 KMX-71 340 (11.8 ] 30.1 | 0.8~3.2 200

KMX-85 6.4 6.0 5.0 0.6~2.0 2000

N

MOUNTING HOLE @7.5

PART NO

PACKAGE

KMX-34 1000




$NsCFLZE HOLE PLUG 3stZEsL

*

*

*

MATERIAL :

NYLON 66 (UL)
FLAME CLASS : 94V-0/94V-2
COLOR : NATURAL/BLACK

Fi&: A8, AJRBZRAGSH
%E[]l_nn, i%@ﬂ

H
;

H
;

=]

ﬁ'@o

* UNIT: mm
’ﬁ A ﬂ r B
MOUNTING HOLE: @G
THICKNESS: T
PART NO B C D (€] T PACKAGE
KMX-32 1851 9.8 | 104 | 1.7 | 11.0~14.0 0.8~3.5 500
KMX-33 30.0 | 155|116 | 1.9 | 22.0~26.0 0.8~3.5 500

B—
e

]
FCHLD

MOUNTING HOLE: @G

THICKNESS: T
PART NO A PACKAGE
KMX-58 16.0| 85 | 126 | 1.6 9.5~11.0 0.8~3.2 500
A b

PART NO
KMX-88

MOUNTING HOLE: @G

THICKNESS: T

A
52.0

43.6

11.5

44.7~49.0

PACKAGE

0.8~3.2

500

PART NO

KMX-89

8.0

MOUNTING HOLE: @G
THICKNESS: T

6.0

1.5

5.0~6.0

0.8~2.4

PACKAGE

500

17

13



$NsCFLZ= HOLE PLUG 3stZEsL

¢ MATERIAL : TPE/ TPE (UL) Fi&: LFLE, "ESREFEH
+ FLAME CLASS : 94V-0 ZOESE, =5 2.

+ COLOR : BLACK

¢ UNIT: mm

PART NO A ] G PACKAGE

KMX-35 70 | 52 | 5.0 1000
KMX-37 80 | 62 | 6.0 1000
KMX-38 80 [ 69 | 65 1000
KMX-39 90 | 72 | 7.0 1000
KMX-41 100 | 82 | 80 1000
KMX-99 11.0] 94 | 9.0 1000
KMX-100 | 12.0 [ 10.4 | 10.0 1000
KMX-101 17.0 | 13.6 | 12.0 1000

REBILRT 4%
Mounting holes are for reference only.

MOUNTING HOLE: @G

T
S oo &8
MOUNTING HOLE: @G MOUNTING HOLE: @G

PART NO A B G PACKAGE
PART NO A PACKAGE

KMX-40 90 | 73 | 7.0 1000

KMX-36 70 | 56 | 55 1000

KMX-92 70 | 56 | 55 1000

f@Ba

MOUNTING HOLE: @G MOUNTING HOLE: @G

PART NO A ] G PACKAGE PART NO A B G PACKAGE

KMX-42 70 | 52 | 5.0 1000 KMX-82 6.0 | 47 | 45 1000

- Material: Silicon Rubber(UL)

6 3 - Flame Class: 94V-0
.78*.

-6+
\ / ij : /\ é I
| |

MOUNTING HOLE: @G

MOUNTING HOLE: @G or M4

PARTNO A G  PACKAGE PARTNO A PACKAGE

= KMX-91 7.5 1355 | 33 [ 1000 KMX-43 | 100 | 79 | 75 | 1000

17

14



$NsCFLZE HOLE PLUG 3stZEsL

¢ MATERIAL : TPE/ TPE (UL) Fi&: A8, AJRBEZRAG=H
+ FLAME CLASS : 94V-0 KBS, ERAS,

¢+ COLOR : BLACK

¢ UNIT: mm

MOUNTING HOLE

PART NO PACKAGE
KMX-87 1000

+ Material: Silicon Rubber

MOUNTING HOLE ©@6.35

PART NO PACKAGE
KMX-93 1000
+ MATERIAL : NYLON 66 (UL) Fig: 0XFLE, SIEEZREWE
* FLAME CLASS : 94V-0/94V-2 HEES, ®RE5.
+ COLOR : NATURAL/BLACK
¢ UNIT: mm

N
\_/

@11.8
TWO 85
4

OO

OO

!

MOUNTING HOLE @11.0
PART NO PACKAGE 17
KMX-44 1000 °

15



$NsCFLZ= HOLE PLUG 3stZEsL

+ MATERIAL : NYLON 66 (UL) Big: HIRXFLE, TESREONSH
+ FLAME CLASS : 94V-0/94V-2 HOES, Bhiia%.
+ COLOR : NATURAL/BLACK
¢ UNIT: mm
|
@ T
| |

MOUNTING HOLE

- = iT THICKNESS: T
i h ba
\ ! ! l
PARTNO A B C D G H T PACKAGE
KMX-45 21.8 1 11.8 1.5 10.5 | 13.0 95 0.8~3.5 500
KMX-46 15.0 1 15.0| 2.0 11.0 13. 13.5 0.75~3.8 500
KMX-60 3501119 | 15 | 105 | 26.0 95 0.8~3.5 500
KMX-61 16.0| 120 1.5 [ 10.5] 13.0 9.5 1.4~3.5 500
KMX-63 24.3 | 14.0 1.5 10.5]116.0| 11.5 0.8~3.5 500
KMX-64 18.0| 8.0 15 10.5 | 16.5 6.5 0.8~3.5 500
KMX-65 19.3 | 19.0 15 1051173 1| 17.0 0.8~3.5 500
KMX-66 39.0 | 15.7 1.5 105|355 | 12.2 1.4~3.5 500
20y
o 17—y
o 0
o M~
—f 5
o MOUNTING HOLE
< THICKNESS 1.0~2.0
~
| \P 5
. PART NO PACKAGE
-—16.8 —
KMX-47 500
- F—19.5
~ -
M~ w
- 44 |
22—+ &, MOUNTING HOLE
~ THICKNESS 0.8~3.5
EL] =
¢ ) i PART NO PACKAGE
—19.1—

KMX-78 500

17

16



$NsCFLZE HOLE PLUG 3stZEsL

*

MATERIAL - NYLON 66 (U) iR TR, SRS
FLAME CLASS : 94V-0/94V-2 ZEE ERSS

e’@o
COLOR : NATURAL/BLACK

UNIT: mm /*\

\_/
- @6.5jj:;

*

*

*

— i

PART NO PACKAGE
KMX-69 1000
[ﬁ®16.2j T 8.9 r [f®16.2j
T £2 Wy =]
J6 - 6
MOUNTING HOLE @12.0 MOUNTING HOLE @12.0
CHASSIS THICKNESS 3.0 CHASSIS THICKNESS 3.0
PART NO PACKAGE PART NO PACKAGE
KMX-86 1000 KMX-70 1000
+ MATERIAL : NYLON 66 (UL)/TPU FBi&: {0FLE, TSRS
+ FLAME CLASS : 94V-2 HEMEE, ®has, B
+ COLOR : BLACK HFAK,
¢ UNIT: mm

CABLE DIAMETER

S RANGE: B
//%
N

OA— %
PART NO A =] G PACKAGE
KMX-72 234 | 2.0~51 | 12.7 | 1000 PU
KMX-73 | 262 | 33~05 | 159 | 1000 NYLON 66
KMX-74 29.2 | 4.4~102 | 19.1 | 1000 MOUNTING HOLE: @G

THICKNESS 1.0~1.6
KMX-75 325 (| 3.3~114 | 22.2 | 500

KMX-76 36.3 | 5.1~18.2 | 254 | 500
KMX-77 389 | 6.4~19.4 | 27.8 | 500

17

17



N=CFL=E HOLE PLUG #13UZEL DVIPhEE

¢ MATERIAL : PE
¢ COLOR : BLACK

* UNIT: mm
38—
H\\!LL E======z====2 UE;‘I

Fi%: 30=(FLE, DVIpFAE EER
ARHENES, XEES2.

h26.5ﬂJ
(@)
-
MOUNTING HOLE
THICKNESS 0.6~1.2

PART NO

PACKAGE

DVI-1 500

*

MATERIAL : NYLON 66 (UL)
FLAME CLASS : 94V-2/94V-0

COLOR : BLACK/NATURAL
UNIT: mm

*

*

*

— 27.6 —

9.1

— —

MOUNTING HO
THICKNESS 2.3

E

1.5 — 15.6 L

— 274 — 2

PART NO A PACKAGE
DVI-2 41.6 1000
DVI-4 38.6 1000

FRi&: #1=(FL2, DVIFAE T
SRR,
[N

~— 20.3 —~

%ﬁ
()

i D

!
N
!

MOUNTING HOLE
THICKNESS 2.3

1.5 — 12.6 L

1

PART NO

PACKAGE

DVI-3 1000

*

MATERIAL : TPE (UL)
FLAME CLASS : 94HB
COLOR : BLACK
UNIT: mm

N4

*

*

*

Fig: NRXFLE, AIEERIS
HEMES, KRE5.

— @A —
e PART NO A D G PACKAGE
o
\ / | KMX-80 19.0 | 5.0 [ 10.0 | 500
17
KMX-94 250 50 | 16.0 | 500
= MOUNTING HOLE: @G
THICKNESS 0.8~2.0 KMX-95 39.0 | 55 | 30.0| 200

18




NXFLZE HOLE PLUG 3stZEsL

* MATERIAL - NYLON 66 (UL Fig: HMELFLE, THESRAGHIFSH
¢ FLAME CLASS : 94V-0/94V-2 ZEE ERSS.

¢ COLOR : NATURAL/BLACK

¢ UNIT: mm

LT, Ef2%

Mounting holes are for reference only.

_[
o
| LT PART NO PACKAGE
MOUNTING HOLE @5.5 KMX-90 1000
¢ MATERIAL : TPE (UL) Bi&: {0FLE, TSRS
+ FLAME CLASS : 94V-0 HEOES, ®Ras, B
+ COLOR : BLACK HBA7K,
' ¢ UNIT: mm
™
— 7.4
—— A
1 < L | o
— — L7
IR, (s RECOMMEND MOUNTING HOLE
Mounting holes are for reference only. r 93—+
(- N PART NO PACKAGE
‘%/H w
O ) i KMX-96 1000
+ MATERIAL : POM Bi&: {0XFLE, TBESRAWS
+ COLOR : BLACK HEES, ®RE5.
¢ UNIT: mm

T

©
r @32.5 ﬁ «1 15.9 —
S
: R
MOUNTING HOLE @22.0~@25.5
THICKNESS 0.8~3.2

PART NO PACKAGE
KMX-97 500

17

19



$NsCFLZE HOLE PLUG 3stZEsL

17

20



12247, FLE SCREW HOLE PLUG i2#¢%EsL

¢ MATERIAL : NYLON 66 (UL) Fi&: 1R22FFLE, TBEZSRS
+ FLAME CLASS : 94V-0/94V-2 e ERE, BhKIeE, &=
+ COLOR : BLACK [ R

¢ UNIT: mm

|

=
/

fM16X1.5P

PART NO PACKAGE

LST-1 500

THREAD\ BODY

PART NO A C D THREAD PACKAGE PART NO A C D THREAD PACKAGE {;#i'l
LST-2 15.0 | 10.0 | 6.0 | M12X1.5 500 LST-10 15.0 [ 12.0 | 85 | M10X1.5 500 %
LST-3 20.2 | 115 | 8.0 | M16X1.5 500 LST-11 15.0 | 10.0 | 6.0 | M12X1.5 500 :;‘j'
LST-4 240 (125 | 7.5 | M20X1.5 500 LST-12 20.2 | 11.5] 8.0 | M16X1.5 500 %
LST-5 30.0 | 15.0 | 11.0 | M25X1.5 500 LST-13 240125 | 7.5 | M20X1.5 500
LST-6 37.0 | 15.7 ] 10.8 | M32X1.5 500 LST-14 30.0 | 15.0 | 11.0 | M25X1.5 500
LST-7 46.0 | 17.5 | 12.0 | M40X1.5 500 LST-15 37.0 | 15.7 | 10.8 | M32X1.5 500
LST-9 15.0 | 125 | 85 | M10X1.5 500 LST-16 46.0 [ 17.5 | 12.0 | M40X1.5 500
LST-20 38.0 | 13.8 | 10.0 | M32X1.5 500 LST-21 38.8 | 13.8 | 10.0 | M32X1.5 500

17

21



18247, 7LE SCREW HOLE PLUG 1Z8%¢ZEsL

+ MATERIAL : NYLON 66 (UL) Hig: 122778, BTFR AR
+ FLAME CLASS : 94V-0/94V-2 A9FLZE,
+ COLOR : BLACK/WHITE M10
* UNIT: mm ‘
MOUNTING HOLE @8.5
PART NO PACKAGE
LST-8 1000
+ MATERIAL : PE ik 18247728, BT/ Amig
+ COLOR : BLACK 2207 2E,
¢ UNIT: mm

g

MATING SCREW: S

PART NO A =] C D S PACKAGE
LST-29 9.0 4.2 1.3 2.5 M5 2000

4
iE
I\.\_,
3

LST-30 100 52 | 1.4 | 3.1 M6 | 2000

DA
“ L\\‘t |
Nz

A

| o

I
~gB -
MATING SCREW: S

PART NO A B C D S PACKAGE
LST-17 1301 6.2 | 1.5 | 40 | M8 1000
LST-18 16.0 | 8.2 16 | 50 [ M10 | 1000
LST-19 180 (103 | 1.8 | 6.4 | M12 | 1000

17

22



12247, FLE SCREW HOLE PLUG i2#¢%EsL

+ MATERIAL : NYLON 66 (UL) Fig: B2 FLE, FRFIRLZFLZBh
+ FLAME CLASS : 94V-0/94V-2 IR IR

+ COLOR : BLACK

¢ UNIT: mm

THREAD

PART NO A B C D E THREAD PACKAGE
LST-22 150 6.1 | 16.5| 13.0 | 4.5 | M12X1.5P 500
LST-23 19.0 [ 8.1 | 20.5 | 13.0 | 4.5 | M16X1.5P 500

LST-24 240 | 81 | 255|145 | 55 | M20X1.5P 500

*

MATERIAL : NYLON 66 (UL)
FLAME CLASS : 94V-0/94V-2
O-RING MATERIAL : NBR
COLOR : BLACK

UNIT: mm

*

*

*

*

PART NO A B C D E THREAD PACKAGE
LST-25 150 6.1 [ 16.5]13.0 | 4.5 | M12X1.5P 500
LST-26 19.0| 81 [20.5]13.0| 45 | M16X1.5P 500
LST-27 240 81 [ 255|145 | 55 | M20X1.5P 500

4
iE
I\.\_‘
3

A

¢ MATERIAL : POM
¢ COLOR : BLACK

\
/1

e UNIT: mm M4X0.7P
THREAD
-
@
f — PART NO PACKAGE 17
M8X1.25P =
THREAD LST-28 200

23



124772 THREADED PROTECTION PLUG #24rzEsL

+ MATERIAL : PE Fi%: 124FLE, EZ2RAIWTH
+ COLOR : RED KOEE, ERE32.
¢ UNIT: mm

PART NO PACKAGE

1-1/4"X11 BSP CLST-1 250

17

24



RO EEN

1.LED|alfRtF

2 LEDSS%HE LEDS¢2 LEDIELE
3.LEDEE LEDEEE LIHMENTE FeLTRE
4.90°LED)TRE 45°LEDXT B2

5. PCixiEf@tE PCHkPREE

6. EBRHEME Bl AR BREE EE SRR BIRERRE PCIREEERE
EE BEiRiREE SEREE

‘%IJ_

7. HEEEE BHMEREEREE HELEE E4iR BEEERE HEE TR A EER
FLEEIERE FRIRELEIRERE FRL B ErE L EIE] REEERE T8 EEIERE XI5 RERE
FELFEIERE

8. PCIRIHT EE&ERInT PORIERERT Bt BfERER A Wit SR Wid=
PRBGZLEE (RIG24EE TRzUFB Lk [imin 1 SHEEIROR T /ELIE in e RIEELK Bk

9. (uGRHIH FEHTUHIE 1222 ETEHIE B FURMIER HERHIE A BRI (RIE
HIER-SHERIZY BB RIRIEE] IR BRI

10. Eplings BRIRe BRVVERIRS YBRIZNG YERNRIE MRS 1T STRIBET I
iRz 1ReLNEE FAEIRY FITIRYL (RIpIR: FRE FTIRE

11. PCHbiR PCIREHE PCIR S4E EBESIR S5 PCBSHIE B SHE BISIRSH

12. RAEE BREAE SRERA BRINES BINSEE BRI T-O3RINERE AXS
fRE A By 4eF) By TO-2208R(NEEE SEFERRIREE FRRIREE IRFRIREE EE/RERIAEE FERRIE
EVRBRSHER INRBEAER BFEEER RAEEEEHR A8y BRARER
REIREX



PR RS TR R

13 FaAesh g i 467 AR BAKIEE BARETE BANE BAEINE Eiur
E BHRIEE

14 3 BIFERERE EBFRIRIFREE {RIFEEMHRS PIRFEFEES

15 ETHR A TR BB 5] TR ICEE R DhERrE SBIRE ToRass A
it R R PGRE R IKERIPER R BREE BREERH SEER R

16.I0RICE HERE (RIS XS RS S5 BitE KREE KRR FRIPEPC
IR FPE BIV\EE hiEfei0 LBEIERE DRAMEIET +FEUHEG=(EEsE HBEESS

17 2 Nz0FLZE NTUEEL DVIRhER 1R22 7 FL28 MRZ2ZRL BaF3

18.EREAN FREEIER AR IRAKE IR FFOZUMER IRIREER FERRER BRI 4k
N REAPLAR TTRUPEIA UBNPEIR URIPEIA iRt MRS RiEHE TIRSI AR
22 TR IRERRPhREE ESENFEREEL ESFEENEET

19485 NAEIBF (LE8 T MHAEIET MU FTEI0 SMERmE SHHEsMEN
20.fHEN%E FHIERS RiPiNke

27 BBEHLs BBtk ERTS BT FLLk FRIRGIE TS BRELTS KEEE LR L0 Baks
I e

22.USBEEIFEE USBim{RIFEs USBimBA4Es MICRO USBRAZEs MINI USBREEHFZ=USB
Type-CRh4Es USBRAZas RJ-45F5425 R)-11F545 R)-12B543s RJ-22F53 HERIEL
s FRIRIESLIRIPEE B ERSLBn AR RE B RiESLIASS G EssirDs NTEEesirE
ST E PCIREFIERhA 3 HDMIBGZA 3 Mini#{iim FRhdss IS E RS 2=BBULS
43 DVIBGLeEs 1&#%885s SIM Card CapBhaess SDBaE= KVMBLeEs CRiaE s in
FE SIHFE TEIHTE BNCHSEE SATARGAE ESATARZ DPIsFIHAZE Mini
D.PE{iimFBh4 2= D.Typefidz VGARsL = IDE Connectorfidz PCiHFEHAE imTF
BEAEE 13%4inFihds B BIRE VTWRBIRRIFES 1EZE5EE PCMICRARIFE iR
DDRBFAEE D-SubfRiFs SERG4EE SDRIFEE Micoro SDRIRHFE SIMRRIPE Bo7KIE
= IEEERET Bh7KE FBBANXEEEEIRES ERARX e AR FERNXEIE S BRNXIEISZZR FFX
AR ST ERREE



PR RS TR R

23 5 VET FEICHNET SRLLDET B A I0ET EERINET ERARXUGSHNET BUAAI0M JREE
TTIRLL[EIERE fAKIZHE 12 TIREEIWIKE IBHEERE GEREERE

24.EIEN THOFFR IS TN SEEEE R0 [ HORIER REEKITI0

55.THB &1 TH #O%RE0 iEfiinT TH Erf kit IesinF T eginrTa



LEDjEIFRHE

LEDS¢thE

LED SPACER SUPPORT LED PIPE

éfjgg 1.LEDjaIpgtE

BHREE

PCHRIEJRRAE

SPACER SUPPORT
ROUND SPACER

SSeRimEtE

PILLAR SUPPORT

SHRERE

SPACER SUPPORT

5.PCHRIalR@iE

PLASTIC FOOT

A7 E

MAGNET PLASTIC FOOT

BRI

RUBBER FOOT

HERIEY/ SRR

GOLD / SILVER COVERING FOOT

BFERERASTH

9. SRR

RIS RREREC : L GElE A

CAPACITOR WASHER NTC THERMISTOR SENSOR
HOUSING

13 EAESRER

14 ABHFEPERE

LEDEE

LED HOLDER

B TR R ST

HeLk/FB L E ERE
FLAT CABLE CLAMP.

HEIERE

TWINST LOCK

FEEIERE

CABLE TIE MOUNT

%, SRS

FAN CABLE TIE MOUNT

PCHRALIR

CARD PULLER

PCIRSHE

CARD GUIDE

B SHE

CARD GUIDE

FBFEBREBRY R S T

PETMEA

CERAMIC PARTS WASHER

BER

SHOULDER WASHER

PCHREL

PCB WASHER

et

WASHER

g

90°LEDJTEE
90° LED HOLDER

LEDATE

LED MOUNT

TRANSISTOR CLAMP

PCiiiinF

PCB TERMINAL

it

GROUND TERMINAL

M/ MiaEt

TESTPIN

ERINENEREC

TRANSITSTOR COVER

L mac e ey

INERICE
e e

FR=

TACT SWITCH CAP

KRR FRIFE

TERMINAL SOFT SLEEVES

TR0\

SPEAKER HOLDER



http://www.kyphe.com/538/2325.html
http://www.kyphe.com/539/2717.html
http://www.kyphe.com/539/2718.html
http://www.kyphe.com/539/2719.html
http://www.kyphe.com/540/2721.html
http://www.kyphe.com/540/2722.html
http://www.kyphe.com/544/2723.html
http://www.kyphe.com/547/2725.html
http://www.kyphe.com/540/2724.html
http://www.kyphe.com/545/2726.html
http://www.kyphe.com/540/2727.html
http://www.kyphe.com/543/2728.html
http://www.kyphe.com/548/2729.html
http://www.kyphe.com/548/2730.html
http://www.kyphe.com/550/2731.html
http://www.kyphe.com/541/2732.html
http://www.kyphe.com/539/2720.html

ot pLus
=FL=
ote pLus

12272

SCREW HOLE PLUG

USBEEIFZ

RJ-45FF45
FEREI T

o mm L
RS

VELCRO

FBFEBREBRT R ST

S7r 22.USBREEIPE

TR AT

ccccccccccccccccccccccccccccccc

N ER TS T E S

HASIE F

RABIEF

HANDLE

Pl

BOX PLASTIC FOOT

I=%7:i3)

SNAP RIVET
XESHIET

BRI

e l HEAT SINK RIVET
297

SREL[E| ERE
2 \s PLASTIC CONICAL ANCHOR

PEN =Y %3]

20./ 254

EEH

DOOR LATCH

EEPAES

DOOR LOCK

SEEEEERE

SPRING POSITION MOUNT

I THORIER

DOOR LOCK TIP.

BT RRERASTM

24. 1 4 0F %

AAEHRBERENE. REFFABEFENKE AR RN, Ar-mBRATHRTF
MEE, TREEMIBRIKIE. EREBXNSHERZTHREESNENAEERNE.


http://www.kyphe.com/541/2733.html
http://www.kyphe.com/544/2734.html
http://www.kyphe.com/553/2735.html
http://www.kyphe.com/549/2736.html
http://www.kyphe.com/544/2737.html
http://www.kyphe.com/541/2738.html
http://www.kyphe.com/550/2739.html
http://www.kyphe.com/553/2740.html
http://www.kyphe.com/555/2741.html
http://www.kyphe.com/538/2325.html

e

MREEESERATE

Nanjing Nowking Electric Co. ,Ltd

Tel: 025-85422485 85436028 85437901
Wechat/Mobile :13770725488
QQ:260678075

E-mail: nk@nowking.com

L 2R 2R K 2R 2

Http://www.nowking.com

Http://www.kyphe.com





